Solving Systems by graphing and substitution.notebook August 20, 2018

|Warm Up

The Ramos family bought 4 sandwiches and 3 salads. They spent $24. Let x be the cost of a sandwich
and y be the cost of a salad.

a) Write a linear equation to represent this situation.
L{}(¥ 3% - 2‘{ 1ol

b) Rewrite the equation in slope-intercept form.

Hxt 3y =24

Yy ~Hx

3y~ -4xt2

o
Y="Lxtg

d) If they bought 3 sandwiches, how may salads did
they buy? L(SQ‘adS A 12 3 4 5

salads

c) Graph the equation.

X

7 8 910

sandwiches
e) List 3 combinations that could have been bought.

(0 'YL(S/L{)/((’/O)
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Special Types of Systems

Patalle|
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Algebraically: X = H: oV L{):ﬁ: Algebraically: 2 ’( Algebraically: Q 72
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Ways of Solving a System

Method When do we use it? Example: ,}
y=-2x+1 m = _L b= /
y=3x-4 m=2; p=Y4
Graphing When we want to N ©
find an 5 T é {/r/>
approximate S
solution. =+ .
2 /
0 I f |
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R 275>
2x -4y = -12 y(zx -4
When one (or both) _ _ _
Substitution equation(s) is ZK (—_* IS + 3 ) AR —//LX Lf’
solved for one &X L x~ (2. =~ |2 ~IX 2{_);
variable. _ *X)r 3=
-2 x =22 (2
HETS 5 =\
-2x=0 A=
0 D,
( D) Y=%t 3 \= K40
V=0%3=3 V=14%=10
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Solving Systems by Graphing Notes

Steps
Make sure each equation is in slope-infercept form.
Graph each equation on the same graph paper.
The point where the lines infersect is the solution.
If they don’t intersect then there's no solution.
4.  Check your solution algebraically!

[

Examples:
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Example In each of the following systems determine if the given point is a solution.

7. x+y=9 (4,-2) 8. 2x+y=—4 (6,5)
-Xx+y=-3 S5x+3y=-6

nt-24 a ND! 20L)+ 5+ -4 NO
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GSE Algebra | Unit 2A Systems by Graphing & Substitution Practice

|. Determine if (2, 1) is a solution to the following systems: Answer yes or no!

x—y=1 —4x+3y=-5
" Ix+y=-5 2 —-Xx—-y=-3
2-1=1 vV “Y(2)42) =-5

fVO Wes

Il. For 3 -4, solve each system graphically. Write your solution in the blank provided.
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Solving Systems by Substitution Notes

Steps
1. One equation will have either x or y by itself or can be solved for x or y
easily.
2. Substitute the expression from Step 1 info the other equation and solve
for the other variable.
3. Substitute the value from Step 2 into the equation from Step 1 and solve.
4, Your solutfion is the ordered pair formed by x & v.
5. Check the solution in each of the original equations.
Examples:
X =4 v -1
’3x+2>3=20 (’UY/W> z'xfé:'j) %72—{
3(’ q’ Z = 2
/\zizg—z% XX = 2 =
ﬂz_;j_:i\l—_ 2x=1=3 (/2 l>
_ IX=
T = /
H 3X+2¢=-12
> y@ —2— 4. " ><:'2L[22>»§
4x -y =10
24 2¢)="12 - - L]L(j ”g>_ I K= (1- 3€€)
3Bx42x-2=12 2Y=5)7Y=|
Sx=2="12 (2,73 |2y-1r-y=1D
2 2 V\/\l:\D(\/}‘_—'ZZ
X = + 2x -5y =29 -
> 3% 15y = -1 6'x X= LTL{/({’()’V £
. - 1€
1L # - ~rs~jf(aorzj_\
. NO Sb ). - (b= 130 =]
7 X 2 +10 3. zxigi?;t1284 v e E—
" 2x—10y =20

2(Syu+0) -0 =20
) wpz%:ﬂ)
20=20 T Wang So |

2~y Q) -3y =2 ¢
(24 f3b-3y-2¢  x="b(4)HE
~(Sy136="2¢ ’2‘4_45

[Cp="CO /ﬁ?
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lll. Solve each linear system using substitution.
(5,9 ) 7) V<2 (5,16 §) ¥ I3

2x+y=19

Tx+23 =1

U= BESES
Dbz 19 ooy [d2b3a3)=] G e
24 Y = (9 @ W= ko= | D7
2= (S = X{p=I _

- = %:(‘%ﬂ@)

/—/‘5/ 2);] }’QJ{{Q

\7)/0)10) y@

2x+3y =35
e _ =207)-4
2)< ) =5 ’2 '/( {2 3x-2y =1 (4
2:4 (i%?@gg S . s ) X2l = | =10
exia==5s x4 €= |
= (4,2) | ~x+R=| \(7//9\
s ) =" -
id yas SN )
X+y= X +y = B
Sx-t=1le Zxd H=19 (M)~
SxX— 30D g)q;(g‘ -
(<=2> > (5 1)

(2 )1 yvLxy7)

2x + 3y = 31

LAX3(x3N=3
254 3x42\=2

SA2\=3
<x=10
=

) =247
| D

(,2) 141y@

Xx+y=1
TXd XA ¢ =
- 3x4d =
2= 3

N>

W=2(D4 4
=—244=-2

(172
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Summary
Error Analysis: Find the mistake and correct it.

Solve the system by substitution:
y=-3x+9
4x +2y =6

Stepl: 4x+2(-3x+9)=6
4x -6x+18=6
-2x+18=6

-18=-18

-2x =-12
Xx=6

Step2: y=-3x+9
6=-3x+9
-9 -9

August 20, 2018
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